



Anthropometric variables, physiological parameters and physical activity levels of undergraduate students from the University of Fort Hare, South Africa

Nikita Phuza^a, Sibulele Moni^a, Iviwe Sigojo^a, Ayamnkele James^a, Mere Idamokoro^{a,*}, Leon van Niekerk^b

^aDepartment of Human Movement Science, University of Fort Hare, Alice, Republic of South Africa

^bDepartment of Psychology, University of Fort Hare, East London, Republic of South Africa

Abstract

The aim of this study was to evaluate the anthropometric variables, physiological parameters and physical activity levels of undergraduate students. 132 undergraduate students aged 18 – 25 years from the University of Fort Hare who signed the consent forms participated in this cross-sectional study. Anthropometric variables were assessed using the International Society for the Advancement of Kinanthropometry (ISAK) standard procedures. Physical activity (PA) levels were evaluated using the international physical activity questionnaire – long form (IPAQ-LF). Blood pressure (BP) was measured using a digital BP monitor (Omron Corporation, model no-IA2 HEM 7001-c-1). 8 %, 59.8 %, 28.0 % and 11.4 % are underweight, normal weight, overweight and obese, respectively. The skinfolds, percentage body fat and body mass index (BMI) of female participants were significantly ($p < .001$) higher than the male participants with a large effect sizes ($d \leq -2.3$). Likewise, the waist-to hip ratio was significantly ($p < .001$) higher in male participants with a large effect size ($d = 1.2$). The result also showed that 59.8 % participants had normal BP, 13.6 % had high systolic blood pressure (SBP), 6.8 % had high diastolic blood pressure (DBP), 7.6 % had prehypertension and 12.1 % had hypertension, respectively. Male participants had higher SBP while female participants had higher DBP which had no significant ($p > 0.001$) effect and with low effect sizes ($d = 0.1$). Again, 72.1 % of participants do not engage in sufficient PA of 300 mins per week which is reflective of less physical activities as compared to the recommended standard (of 300 minutes of moderate-intensity aerobic PA per week) by the world health organization (WHO). We recommend an urgent intervention programs that will help improve the PA levels, reduce unhealthy BMI and BP levels of university students.

DOI:10.46481/asr.2025.4.3.313

Keywords: Anthropometrics, Body mass index, Blood pressure, Physical activity, University students.

Article History :

Received: 01 May 2025

Received in revised form: 24 May 2025

Accepted for publication: 28 July 2025

Available online: 02 September 2025

© 2025 The Author(s). Published by the Nigerian Society of Physical Sciences under the terms of the Creative Commons Attribution 4.0 International license. Further distribution of this work must maintain attribution to the author(s) and the published article's title, journal citation, and DOI.

1. Introduction

In recent years, there has been a growing interest in understanding the health and well-being of university students, particularly with regard to their physical activity (PA) and lifestyles. Undergraduate students who are in a crucial phase of their lives often face multiple challenges such as academic stress, long hours of sedentary behaviour, and irregular dietary patterns. These factors

*Corresponding author: Tel.: +27-78-298-7913.

Email address: mereidamokoro@gmail.com (Mere Idamokoro^{id})

contribute to the deterioration of physical health which can lead to long-term consequences for both academic performance and overall quality of life [1]. The aim of carrying out studies with respect to the anthropometric, physiological, and PA assessment of people is to provide a cue of their physical health status. This will in turn help to discover at an initial stage the danger associated to non-communicable diseases (NCDs) at a metabolic and cardiovascular level [2]. Non-transferable diseases/NCDs can be chronic because they can linger for a long time due to some factors [3]. More than three quarters of the global non-transferable/NCDs deaths (31.4 million) occurs as a result of cardiovascular diseases (CVDs), cancers, chronic respiratory diseases, and diabetes mellitus. This is a worrisome statistics as individuals both in low and middle income nations are affected [3]. The risk of NCDs can lead to some metabolic changes such as hyperglycemia (high blood glucose levels), overweight(OW)/obesity (OB), hyperlipidemia (high level of fat in the blood) and elevated blood pressure (BP) [3]. Furthermore, 19% of global deaths are ascribed to elevated BP, followed by higher blood glucose and OW/OB [3]. Similarly, WHO [4] also reported that one-third (19 %) of core sources of deaths in South Africa excluding cancer are caused by NCDs.

Physiological parameters such as systolic blood pressure (SBP) and diastolic blood pressure (DBP) are generally employed to evaluate cardiovascular ailment of individuals [5]. As a general rule of thumb, a SBP of <120 mmHg and DBP < 80 mmHg is regarded as normal, while BP $\geq 140/90$ is categorized as a hypertensive condition. Conversely, isolated SBP of ≥ 140 is categorized as isolated systolic hypertension, while isolated DBP of ≥ 90 is categorized as isolated diastolic hypertension [6]. The physiological reactions of a person are interconnected to the anthropometric pointers due to the fact that insalubrious weight gain is associated with high BP values which is caused as a result of physique fat wedged in the arteries producing a resistance in the peripheral section [7].

One of the commonly used anthropometric procedure to classify the level of OW and OB in people is the body mass index (BMI), as this forms the connection between body mass. However, the major demerit of using BMI to evaluate OW and OB levels in people is the inability to differentiate between the dissemination of body fat. Meanwhile, percentage body fat percentage (% BF), waist circumference (WC), waist–hip ratio (WHRatio), and waist–height ratio (WhtRatio) are pointers that indicate the extent and spreading of adipose tissue in the human physique and they are better predictors of cardiovascular diseases [8]. A healthy BMI is reportedly ranged from 18 to 25 kg/m² while a BMI exceeding 26 kg/m² is seen as unhealthy.

Factors influencing the development of NCDs are multifaceted, with lifestyle choices playing a pivotal role. Among these are unhealthy weight gain, physiological profiles and physical sedentariness been acknowledged as key threats. Epidemiological, clinical, and basic research evidence established the fact that the existence of constant PA participation serves as a tool to circumvent lifelong diseases and to improve the overall health of adolescents [9]. WHO [10] reported that PA plays a vital role towards the general well-being of adolescents, thus contributing to their current and future physical, social, emotional, psychological development and enhanced academic and cognitive performance. The transition from adolescence to middle age which mostly falls to the period when young people are expected to be in the higher institution of learning represents a precarious age where several behavioural choices are often made and any wrong behavioural choice that affects their PA may implicitly influence their health in the long run [11]. University students, due to the challenges of academic responsibilities and demands may experience changes in their PA levels and lifestyles which could negatively impact the risk of developing NCDs [12].

Several factors signifying cardiovascular risk complications have been identified to be associated with the physiological status, anthropometrics and PA levels in young people. For instance, the values of some anthropometric characteristics (e.g. increase value of subcutaneous adipose tissue) of adolescence are risk indicators and pointers to hypertension, gallstones, CVD, adult on-set diabetes mellitus and other diseases in humans. Previous studies on the risks factors that is associated with the evaluation of anthropometric variables, physiological traits and physical fitness among adult men and women have been carried out [13, 14]. However, there are paucity of information regarding the study of anthropometric variables, physiological traits and PA levels of undergraduates in the institution of higher learning in South Africa. This investigation addresses a breach in the literature by way of providing a wide-ranging evaluation of anthropometric variables, physiological parameters, and PA levels of undergraduate students as a risk indicator to OW and OB or hypertensive condition. Understanding the health status of this demography and people group will provide valuable insights for developing effective NCDs prevention strategies tailored towards university students.

2. Materials and methods

2.1. Research design and sampling technique

This study employed a cross-sectional approach from a random sample using a quantitative technique. This research design included an inclusion criteria in the selection process. A population size of students between the range of 16000 – 20000 with error margin of 5 % and a significant level of 95 % was used for this study. A response distribution of 50 % that yielded a sample size of 377 participants was determined for this study using the raosoft sample calculator. Three hundred and seventy seven sample size was selected, however, only 132 participants gave their consents and signed the informed consent form.

2.2. Study population

The population for this research consisted of 132 undergraduate students (91 males and 41 females) who are enrolled in the University of Fort Hare, Eastern Cape province of South Africa (SA). These participants showed willingness in participating in the research by signing the consent form. Selection criteria includes:

- i. Inclusion Criteria: male and female students, undergraduate students, registered as students in University of Fort Hare, and are between 18 – 25 years of age were included in the study.
- ii. Exclusion Criteria: students with known chronic illnesses, pregnant students, and students above 25 years of age were excluded from the study.

2.3. Instrumentation used in the study

2.3.1. Anthropometric assessments

Standardized standiometer was employed to measure stature (cm), and body mass (kg) using a clinical digital balance scale (SECA Model 812). All measurements were made with light clothing on and bare feet, respectively. Girth measurements (waist and hip circumference) was taken using a measuring tape while a caliper was employed to measure the triceps and subscapular sites of participants. Standard methods as described by the International Society for the Advancement of Kinanthropometry (ISAK) were adhered to when carrying out the measurements [15]. The weight (kg) to height (cm) ratio of undergraduates who participated in the study was employed to determine their BMI. Percentage body fat was calculated using the skinfold equation as described by Slaughter *et al.* [16]. Waist circumference (cm) divided by hip circumference (cm) was used to determined the waist-to-hip ratio (WHR).

2.3.2. Physiological measurements

The BP of the participants was determined using a digital BP monitor (Omran Corporation, model no-IA2 HEM 7001-c-1). Participants sat comfortably in a chair and in a calm position as measurement was done [17]. All participants was seated with the arm cuff and zero indicator on the monitor at the level of the examiner's eye. Readings was taken in duplicate on the right arm. Apposite cuff sizes was employed and cuff inflated and deflated once. The readings at the first and third BP monitors was taken as SBP and DBP, respectively. The mean of the two BP measurements was documented and incorporated in the analysis.

2.3.3. Physical activity

The international physical activity questionnaire – long form (IPAQ, 2010) was used to assess the PA levels of the participants in this study. The IPAQ questions focuses in the discovery, types and levels of PA that people engages in on a daily basis and this helps in determining the levels of their PA. The IPAQ is a self-reported measurement means for PA that is appropriate for evaluating PA and sedentariness in a wide range of people [18]. IPAQ measures the PA levels of people aged 15 - 69 years, which evaluates action levels through five spheres (job-related, transportation, housework, recreation and time spent sitting). The questionnaires require information on the time spent on PA over the past one week. The IPAQ is hence thought of to be an unswerving and certified means for evaluating PA amid young adults at higher institution of learning [19]. The IPAQ score produces two types of results. The first was presented as an unremitting variable (metabolic equivalent of task [MET] minutes per week) and the second as categories (low, moderate, or high activity levels). The number of MET minutes is a measure of the energy used in PA. A multiple of the predicted resting energy expenditure were recorded as MET. The stanndard recommendation of WHO for regular PA of 300 minutes of moderate-intensity aerobic PA was used to categorize PA levels of the participants [20].

2.4. Ethical concerns

Ethical clearance and permission to carry out this investigation was approved by the ethical committee of the University of Fort Hare (REC-100118-054). A consent form was provided to all participants and they were given sufficient time to make their decisions. Participants signed the consent forms and then return it to the researchers. Anonymity and confidentiality of the participants was sustained by not demanding for any identification in the questionnaires.

2.5. Data analysis

Data was analysed using SPSS data analysis software. All variables as data used in this study was analyzed using descriptive statistics, i.e. means and standard deviations. A probability level of 0.05 or less was employed to specify statistical importance. Effect size was worked out for each analysis using the Cohen'd to assess the practical connotation of outcomes. Cohen's guidelines was used to interpret η^2 effect size: 0.01 = small, 0.06 = medium and 0.14 = large [21].

3. Results

Sample distribution of the participants showed that 132 undergraduates participated in the study. The mean age of the participants was 21.72 ± 1.80 years.

Table 1 displayed more male participants (68.9%) than female participants (31.1%).

Table 2 showed the anthropometric variables, physiological parameters and body composition of the participants.

Skinfolds (Triceps + Subscapular); %BF = Percentage body fat; WHR = waist-to hip ratio; BMI = Body mass index; SBP = Systolic blood pressure; DBP = Diastolic blood pressure; WC = waist circumference; HC = hip circumference

Table 1. Sample distribution.

Sex	n (%)
Male	91 (68.1)
Female	41 (31.1)
Total	132 (100)

Table 2. Anthropometric variables, blood pressure and body composition of the participants.

Variables		N	Mean $\pm$ SD
Anthropometric	Weight (kg)	132	69.58 $\pm$ 13.87
	Stature (cm)	132	167.80 $\pm$ 9.71
	Triceps (mm)	132	12.41 $\pm$ 6.33
	Subscapular (mm)	132	12.75 $\pm$ 6.71
	WC (cm)	132	75.67 $\pm$ 8.79
	HC (cm)	132	99.62 $\pm$ 10.46
Blood pressure	SBP (mmHg)	132	124.40 $\pm$ 15.6
	DBP (mmHg)	132	76.20 $\pm$ 14.4
Body composition	Skinfolds- Boys	91	14.10 $\pm$ 6.28
	Skinfolds- Girls	41	29.47 $\pm$ 7.39
	Body fat %	132	25.16 $\pm$ 12.48
	WHR (cm)	132	0.76 $\pm$ 0.05
	BMI (kgm ⁻²)	132	24.78 $\pm$ 5.19

Skinfolds (Triceps + Subscapular); %BF = Percentage body fat; WHR = waist-to hip ratio; BMI = Body mass index; SBP = Systolic blood pressure; DBP = Diastolic blood pressure; WC = waist circumference; HC = hip circumference.

Table 3. Classification of BMI and blood pressure among participants.

BMI classification	Underweight n (%)	Normal weight n (%)	Overweight n (%)	Obese n (%)	
	1 (8)	79 (59.8)	37 (28.0)	15 (11.4)	
Blood pressure cate- gory	Normal BP	High SBP	High DBP	Pre-hypertension	Hypertension
	79 (59.8)	18 (13.6)	9 (6.9)	10 (7.6)	16 (12.1%)

Table 3 clearly showed the occurrence of underweight, OW and OB following the WHO BMI based cut-off points for adults and the blood pressure category for all participants. The result showed that 1 (8%) participant was underweight, 79 (59.8%) had normal weight, 37 (28.0%) overweight and 15 (11.4%) were obese (Table 3). Also, 79 (59.8%) had normal blood pressure, 18 (13.6%) high SBP, 9 (6.8%) high DBP, 10 (7.6%) pre-hypertension and 16 (12.1%) hypertension, respectively (Table 3).

Table 4 displayed the independent samples t-test that was employed to define the significant dissimilarity in the mean scores between male and females in the anthropometric variables and the blood pressure parameters. Also, the Cohen's d was used to determine the effect sizes of the variables. The skinfolds, % body fat and BMI of female participants were significantly ($p < .001$) higher than the male participants with a large effect sizes ($d \leq -2.3$) (Table 4). Waist to hip ratio was significantly ($p < .001$) higher in male participants than in female participants with a large effect size ($d = 1.2$). The physiological parameters of male and female participants revealed that male participants had higher SBP than female participants while female participants had higher DBP than male participants which is not statistically significant ($p > 0.001$) and with low effect sizes ($d = 0.1$) (Table 4).

The PA categories of the participants according to the WHO threshold are displayed in Table 5 below. The results revealed that majority of the participants are not meeting up with the 300 min per week PA. 93 (72.1%) are not doing enough PA while 36 (27.9%) of the participants are doing enough PA following the recommended threshold from WHO.

4. Discussion

In this present study, skinfolds (triceps and subscapular), BF %, and BMI were significantly higher in females than in males with large effect sizes. Consistent with our result is the study of Ugbenyen and Ajayi [22] who reported female university participants to have significantly higher BMI than male university participants. Likewise, Rodríguez-Montero *et al.* [13] reported BF % to be higher

Table 4. t-test and effect sizes of anthropometrics, body composition and blood pressure variables among males and females participants.

Variables	Males (n = 91) Mean $\pm$ SD	Females (n = 41) Mean $\pm$ SD	p-value	D
Skinfolds	14.10 $\pm$ 6.28	29.47 $\pm$ 7.39	<.001	-2.311
% BF	20.18 $\pm$ 8.03	36.21 $\pm$ 13.55	<.001	-1.594
WHR (cm)	0.77 $\pm$ 0.04	0.73 $\pm$ 0.05	<.001	1.223
BMI (kgm ⁻²)	23.67 $\pm$ 4.74	27.25 $\pm$ 5.37	<.001	-.726
SBP	125.18 $\pm$ 14.29	122.93 $\pm$ 18.53	.448	.143
DBP	75.42 $\pm$ 13.62	77.95 $\pm$ 16.29	.355	-.175

Skinfolds (Triceps + Subscapular); %BF = Percentage body fat; WHR = waist-to hip ratio; BMI = Body mass index; SBP = Systolic blood pressure; DBP = Diastolic blood pressure

Table 5. Total PA categories – according to the WHO threshold = 300 min per week.

Variables	Frequency	Percentage
Not enough PA	93	72.1
Enough PA	36	27.9
Total	129	100

PA = Physical activity

in females than in males, a result that is in line with the present study. Several studies have reported that females have a tendency to store more fatty tissue due to biological processes [23–25] which may explain the reason for this observation. Conversely, these findings were in contrast with the findings of Shah *et al.* [26] who reported a higher prevalence of overweight/obesity in males than in females. Also, the present study showed that male participants had significantly higher WHR than female participants which is in line with the study of Ugbenyen and Ajayi [22]. WHR is said to be negatively associated to the female sex hormone called estradiol, and positively associated to the male sex hormone called testosterone, which clearly explains why WHR is smaller in women than in men [27]. According to WHO, a WHR of 0.85 or less for females and 0.9 or less in males is ideal and moderate. The low ratio of WHR size in women as compared to men serves as a distinctive human feature, however, numerous adaptive mechanisms may have contributed to this development [28]. Meanwhile, a high WHR in women can be concomitant with health conditions such as CVDs, diabetes, menstrual abnormality, lung impairment, gallbladder ailment, hormonal imbalances which may lead to anovulatory cycles [27].

In this study, 8 % of the participants are underweight, 59.8% were normal weight, 28.0 % were overweight and 11.4 % were obese. In accordance with the present study, Peltzer *et al.* [29] reported that 10.8 % of the participants in their study were underweight, 64.4 % fell within healthy weight, 18.9 % were OW and 5.8 % were obese among the total population of 15,746 undergraduate students from 22 countries. These findings suggest that undergraduate students are not left out from the prevalent trends of OW and OB incidences in the world. Chukwudi [30] also reported the prevalence of OW and OB amongst 338 university students enrolled in the university of Venda in the Limpopo province of South Africa. From their findings, it was revealed that 20 % and 9.5 % of the participants were OW and obese, respectively [30]. Likewise, amongst 110 undergraduate female students at the University of the Witwatersrand that participated in a study, the OW and OB levels were reported to be 37.3 % and 17.3 %, respectively [31]. Furthermore, Sartorius *et al.* [32] reported in their findings that 3 out of 10 South Africans are OW. Study has it that, there is an increasing occurrence of OW and OB in the Sub-Saharan region of Africa [33] including the Central, Eastern, Western and Southern regions of Africa. The World Health Organization also reported that within the past 25 years, the number of OW/OB people in Africa had increased from 5.4 million to 10.3 million [34]. According to Lee *et al.* [35] obesity is said to be an ailment that is caused by various factors that involves biological factors, beliefs, genetic, consumption lifestyles, social, environmental, behavioural, and sedentariness in people.

In this study, 59.8 % of the participants had normal BP, 13.6 % had high SBP, 6.8 % of the participants had high DBP, while 7.6 % and 12.1 % had prehypertension and hypertension, respectively. Male participants in this study had an insignificant ($p > .05$) higher SBP than female participants while female participants had an insignificant ($p > .05$) higher DBP than male participants. In line with this study, Kessler and Rayman [36] reported that 52 % of undergraduate students had high SBP, 30 % had high DBP and male students had high SBP and DBP compared to female students. Also Ugbenyen and Ajayi [22] reported a significantly higher SBP in male participants than female participants while no differences in the DBP between male and female students was noticed in that study. Ghadhbhan and Habib [37] also reported a high SBP and DBP (1.8 % and 3.6 %, respectively) among university students aged 18 – 25 in the university of Basrah in Iraq.

The risk of cardiovascular disease has been reportedly seen to be extensively more in the presence of high SBP as compared to high DBP. The impact of high SBP can result to stroke, coronary heart disease, cardiac failure as well as myocardial infarction, angina, and unexpected demise in people. All of these outlined conditions have the risks to be greater for people with high SBP than

those of DBP. Hypertension and prehypertension are likely to display further atherosclerosis threats on people with the condition which equally stimulate the incidence and significantly effect its influence on CVDs [38].

Based on the report by the World Health Organization, 18 – 64 years old adults are required to take part in at least 150 – 300 minutes of moderate-intensity aerobic PA throughout the week for substantial health benefits [20]. With respect to the present study, 72.1 % of the participants did not meet this recommendation. In line with our findings, the study of Pengpid *et al.* [39] who also reported the incidence of physical sedentariness amongst university students from twenty-three low, middle and high-income nations, observed that the incidence of physical sedentariness was high with a proportion of 50.5 % in Southeast Asia, 37.2 % in South America and 37.1 % in sub-Saharan Africa, respectively. According to the findings of Pengpid *et al.* [39], four out of ten students are reportedly to be physically inactive which calls for deliberate intervention by all stakeholders from those higher institutions. Physical activity levels amongst undergraduate students in the university varies generally, with 22 % reported in Malaysia [40] and 31.2% in Brazil [41] to have low PA levels. Pengpid and Peltzer [42] had 4460 participants conscripted from various universities within Central, South, East, and West Africa. Their findings revealed that 37.1% of the undergraduate students had low PA. Engaging in more PA promotes healthier lifestyle than sedentary lifestyle. To lessen the unfavourable influence of inactivity, people should purposefully and intentionally engage in physical activities and outdo the recommended levels of MVPA [20].

5. Study limitations and future research

This study had a quite lesser sample size of 132 participants. Future research could target a bigger sample size in order to improve the ascertions and recommendations of the findings. Furthermore, another limitations observed from the study is an unbalanced representation of gender and age groups which can be looked into in future studies to better understand variations in health metrics across different populations. To get reliable results, future research could include a diversity of participants from diverse campuses and institutions. This approach will help to make sure the findings apply to a wide range of students. Finally, the psychological impact of obesity e.g. low self-esteem, depression and health consequences in relation to hypertension and diabetes mellitus was not part of this study. Hence, future research could aimed at the psychological impact of obesity on the academic performance and general well-being of undergraduate students. Also, seeking medical services and counselling sections from sports psychologist, exercise physiologist and sports nutritionist could be recommended as a way out.

6. Conclusions

Observations from the findings revealed that skinfolds (triceps and subscapular), body fat percentage and BMI are significantly higher in females than in males with large effect sizes. Waist-to-hip ratio is significantly lower in females than in males with large effect size. Systolic blood pressure is higher in males than in females, although, not statistically significant while the reverse was the case for diastolic blood pressure which was also not statistically significant. Majority of the participants are inactive.

Data availability

Data will be made available upon reasonable demand from the corresponding author.

Acknowledgement

The authors would like to thank the University of Fort Hare for their moral supports in writing this manuscript. No funding support received for the research, authorship, and/or publication of this manuscript.

References

- [1] N. M. Almoraie, N. M. Allothmani, W. D. Alomari & A. H. Al-amoudi, "Addressing nutritional issues and eating behaviours among university students: a narrative review", *Nutrition Research Reviews* **38** (2024) 53. <http://dx.doi.org/10.1017/S0954422424000088>.
- [2] O. Espinoza-Navarro, L. Brito-Hernández & C. Lagos-Olivos, "Body composition and metabolic risk factors in primary school teachers in Chile", *International Journal of Morphology* **38** (2020) 120. <http://dx.doi.org/10.4067/S0717-95022020000100120>.
- [3] World Health Organization, "Non-communicable diseases", 2023. [Online]. <https://www.who.int/news-room/fact-sheets/detail/noncommunicable-diseases>.
- [4] World Health Organization, "Physical activity", 2018. [Online]. https://www.who.int/health-topics/physical-activity#tab=tab_1.
- [5] J. H. Jeong, B. Lee, J. Hong, T. H. Yang & Y. H. Park, "Reproduction of human blood pressure waveform using physiology-based cardiovascular simulator", *Scientific Reports* **13** (2023) 7856. <http://dx.doi.org/10.1038/s41598-023-35055-1>.
- [6] Health, "National user guide on the prevention and treatment of hypertension in adults at the PHC level", 2021. [Online]. <https://knowledgehub.health.gov.za/system/files/elibdownloads/2023-04/HYPERTENSION%2520USER%2520GUIDE%2520FINAL%2520COPY.pdf>.
- [7] D. A. S. Silva, E. L. Petroski & M. A. Peres, "Is high body fat estimated by body mass index and waist circumference a predictor of hypertension in adults? A population-based study", *Nutrition Journal* **11** (2012) 112. <https://doi.org/10.1186/1475-2891-11-112>.
- [8] A. Gaździnińska, S. Gaździnińska, P. Jagielski & P. Kler, "Body composition and cardiovascular risk: a study of Polish military flying personnel", *Metabolites* **13** (2023) 1102. <https://doi.org/10.3390/metabo13101102>.

- [9] M. S. Sothorn, M. Loftin, R. M. Suskind, J. N. Udall & U. Blecker, "The health benefits of physical activity in children and adolescents: Implications for chronic disease prevention", *European Journal of Pediatrics* **158** (1999) 271. <https://doi.org/10.1007/s004310051070>.
- [10] World Health Organization, "Young and physically active: a blueprint for making physical activity appealing to youth", 2012. [Online]. <https://iris.who.int/handle/10665/107304>.
- [11] E. Lawrence, S. Mellborn & R. Hummer, "Health lifestyles across the transition to adulthood: implications for health", *Social Science & Medicine* **193** (2017) 23. <https://doi.org/10.1016/j.socscimed.2017.09.041>.
- [12] K. Asberg, A. C. Eldh, M. Löf & M. Bendtsen, "Simply complicated: uncovering the processes of lifestyle behaviour change among college and university students with access to a digital multiple lifestyle intervention", *Digital Health* **10** (2024) 10. <https://doi.org/10.1177/20552076241245905>.
- [13] A. Rodríguez-Montero, J. A. Ugalde-Ramírez & D. Rojas-Valverde, "Assessment of anthropometric, physiological and fitness indicators according to sex and age in participants of a swimming program", *MHSalud* **17** (2020) 2. <https://doi.org/10.15359/mhs.17-2.2>.
- [14] Y. Yuan, W. Sun & X. Kong, "Relationship between metabolically healthy obesity and the development of hypertension: a nationwide population-based study", *Diabetology & Metabolic Syndrome* **14** (2022) 150. <https://doi.org/10.1186/s13098-022-00917-7>.
- [15] M. Marfell-Jones, F. Esparza-Ros & R. Vaquero-Cristóbal, "ISAK Accreditation Handbook", International Society for the Advancement of Kinanthropometry, Murcia, Spain, 2019, pp. 122–140. <https://pdfcoffee.com/isak-guide-pdf-free.html>.
- [16] M. H. Slaughter, T. G. Lohman, R. A. Boileau, C. A. Horswill, R. J. Stillman, M. D. Van Loan & D. A. Bembien, "Skinfold equations for estimation of body fatness in children and youth", *Human Biology* **60** (1988) 709. <https://www.jstor.org/stable/41464064>.
- [17] National Health and Nutrition Examination Survey (NHANES), "Blood pressure procedures manual", 2019. [Online]. https://www2.heart.org/site/DocServer/Break_1_-_Measure_BP_Accurately.pdf.
- [18] M. M. Booth, "Assessment of physical activity: an international perspective", *Research Quarterly for Exercise and Sport* **71** (2000) s114. <https://doi.org/10.1080/02701367.2000.11082794>.
- [19] C. L. Craig, A. L. Marshall, M. Sjostrom, A. Bauman, M. L. Booth, B. E. Ainsworth, M. Pratt, U. Ekelund, A. Yngve, J. F. Sallis & P. Oja, "International physical activity questionnaire: 12-Country reliability and validity", *Medicine and Science in Sports and Exercise* **35** (2003) 1381. <https://doi.org/10.1249/01.MSS.0000078924.61453.FB>.
- [20] World Health Organization, "Package of Essential Non-communicable (PEN) disease interventions for primary health care. Geneva: World Health Organization", 2020. [online]. [https://www.who.int/publications-detail-redirect/who-package-of-essential-noncommunicable-\(pen\)-disease-interventions-for-primary-health-care](https://www.who.int/publications-detail-redirect/who-package-of-essential-noncommunicable-(pen)-disease-interventions-for-primary-health-care).
- [21] J. Cohen, "Multiple regression and correlation analysis", in *Statistical power analysis for the behavioral sciences*, New Jersey, U.S., 1988, pp. 410–414. <https://utstat.utoronto.ca/brunner/oldclass/378f16/readings/CohenPower.pdf>.
- [22] A. M. Ugbenyen & O. O. Ajayi, "Studying the anthropometric indices of university students at a Nigerian university", *Journal of Nature and Science of Medicine* **6** (2023) 192. https://doi.org/10.4103/jnsn.jnsn.148_22.
- [23] E. Blaak, "Gender differences in fat metabolism", *Current Opinion in Clinical Nutrition & Metabolic Care* **4** (2001) 499. <https://doi.org/10.1097/00075197-200111000-00006>.
- [24] K. Karastergiou, S. R. Smith, A. S. Greenberg & S. K. Fried, "Sex differences in human adipose tissues- The biology of pear shape", *Biology of Sex Differences* **3** (2012) 13. <https://doi.org/10.1186/2042-6410-3-13>.
- [25] K. M. Gavin & D. H. Bessesen, "Sex differences in adipose tissue function", *Endocrinology and Metabolism Clinics of North America* **49** (2021) 215. <https://doi.org/10.1016/j.ecl.2020.02.008>.
- [26] B. Shah, K. T. Cost, A. Fuller, C. S. Birken & L. N. Anderson, "Sex and gender differences in childhood obesity: contributing to the research agenda", *BMJ Nutrition Prevention & Health* **3** (2020) 387. <https://doi.org/10.1136/bmjnp-2020-000074>.
- [27] D. Singh & D. Singh, "Shape and significance of feminine beauty: an evolutionary perspective", *Sex Roles* **64** (2011) 723. <https://doi.org/10.1007/s11199-011-9938-z>.
- [28] D. Singh, "Adaptive significance of female physical attractiveness: Role of waist-to-hip ratio", *Journal of Personality and Social Psychology* **65** (1993) 293. <https://doi.org/10.1037/0022-3514.65.2.293>.
- [29] K. Peltzer, S. Pengpid, T. A. Samuels, N. K. Özcan, C. Mantilla, O. H. Rahamefy, M. L. Wong & A. Gasparishvili, "Prevalence of overweight/obesity and its associated factors among university students from 22 countries", *International Journal of Environmental Research & Public Health* **11** (2014) 7425. <https://doi.org/10.3390/ijerph110707425>.
- [30] A. G. Chukwudi, "The determinants of obesity among students of the university of Venda, Limpopo province of South Africa", *Journal of Obesity & Weight Loss Therapy* **6** (2016) 324. <https://doi.org/10.4172/2165-7904.1000324>.
- [31] P. J. Gradidge & E. Cohen, "Body mass index and associated lifestyle and eating behaviours of female students at a South African university", *South African Journal of Clinical Nutrition* **31** (2017) 89. <http://doi.org/10.1080/16070658.2017.1406176>.
- [32] B. Sartorius, A. Kenge & A. Schutte, "Health effects of overweight and obesity in 195 countries over 25 years", *The New England Journal of Medicine* **377** (2017) 13. <http://doi.org/10.1056/NEJMoa1614362>.
- [33] M. Ng, T. Fleming, M. Robinson, B. Thomson, N. Graetz, C. Margono, E. C. Mullany, S. Biryukov, *et al.* "Global, regional, and national prevalence of overweight and obesity in children and adults during 1980-2013: a systematic analysis for the global burden of disease study 2013", *The Lancet* **384** (2014) 766. [http://doi.org/10.1016/S0140-6736\(14\)60460-8](http://doi.org/10.1016/S0140-6736(14)60460-8).
- [34] World Health Organization, "World Health Statistics 2017: monitoring Health for the SDGs", 2017. [Online]. <https://www.who.int/publications/i/item/9789241565486>.
- [35] A. Lee, M. Cardel & W. T. Donahoo, "Social and environmental factors influencing obesity", In: Feingold KR, Anawalt B, Blackman MR, *et al.*, editors. South Dartmouth, U.S., 2000, pp. 40–67. <https://www.ncbi.nlm.nih.gov/books/NBK278977/>.
- [36] T. A. Kessler & L. Rayman, "Prevalence of high blood pressure, risks factors, and knowledge deficit in apparently healthy college students", *Medical Research Archives* **12** (2024) 5357. <https://doi.org/10.18103/mra.v12i6.5357>.
- [37] A-H. F. Ghadhban & O. S. Habib, "A study on the distribution of blood pressure measurements among university students", *The Medical Journal of Basrah University* **29** (2011) 43. <https://doi.org/10.33762/mjbu.2011.49482>.
- [38] W. B. Kannel, "Historic perspectives on the relative contributions of diastolic and systolic blood pressure elevation to cardiovascular risk profile", *American Heart Journal* **138** (1999) S205. [https://doi.org/10.1016/s0002-8703\(99\)70311-x](https://doi.org/10.1016/s0002-8703(99)70311-x).
- [39] S. Pengpid, K. Peltzer, H. K. Kassean, J. P. T. Tsala, V. Sychareun & F. Muller-Riemenschneider, "Physical inactivity and associated factors among university students in 23 low-, middle- and high-income countries", *International Journal of Public Health* **60** (2015) 539. <http://hdl.handle.net/20.500.11910/1655>.
- [40] R. Karthikeyan, K. Selvaganapathy & L. Liew, "Physical activity level among university students: a cross sectional survey", *International Journal of Physiotherapy and Research* **3** (2015) 1336. <http://dx.doi.org/10.16965/ijpr.2015.202>.
- [41] A. C. D. Fontes & R. P. T. Vianna, "Prevalence and factors associated with the low level of physical activity among college students of a public University in the Northeast region Brazil", *Revista Brasileira de Epidemiologia* **12** (2009) 20. <https://doi.org/10.1590/S1415-790X2009000100003>.
- [42] S. Pengpid & K. Peltzer, "Physical inactivity and associated factors among university students in South Africa", *African Journal for Physical Health Education, Recreation and Dance* **19** (2013) 143. <https://hdl.handle.net/10520/EJC133608>.